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Thema	
  II	
  –	
  Keynesianische	
  Theorie	
  
	
  
	
  
	
  
Effektive	
  Nachfrage	
  (Yd):	
  	
   	
  
	
  
	
  
	
  
	
  
Gleichgewichtseinkommen	
  (Y0):	
   	
   	
  
	
  
	
  
	
  
	
  
Erwarteter	
  Kurswert:	
   	
   	
  
	
  
	
  
	
  
	
  
	
  
Keynesianisches	
  Totalmodell:	
  
	
  
	
  
	
  
	
   	
   	
   	
   	
   à	
   	
   GW	
  –	
  Beschäftigung	
  (Vollbeschäftigung)	
  
(1)	
   	
   	
   	
   	
   	
   	
  
	
   	
   	
   	
   	
   à	
   	
   GW	
  -­‐	
  Reallohn	
  
	
  
	
  
	
  
(2)	
  	
  	
   	
   	
   	
   à	
   	
   GW	
  –	
  Output-­‐/	
  Güterangebot-­‐	
  bzw.	
  Nachfrage	
  
	
  
	
  
	
   	
   	
   	
   	
   	
   	
   	
   	
   	
  
(3-­‐IS)	
   	
   	
   	
   	
   	
   	
  
	
   	
   	
   	
   	
   à	
   	
   GW	
  –	
  Zins	
  (natürlicher	
  Zins)	
  und	
  GW	
  -­‐	
  Preisniveau	
  	
  	
  	
  	
  	
  	
  
	
   	
   	
   	
   	
   	
   	
   (ergibt:	
  	
  	
  	
  	
  	
  	
  	
  	
  	
   	
  	
  	
  	
  	
  	
  	
  	
  )	
  
(4-­‐LM)	
   	
   	
   	
   	
   	
   	
   	
   	
  
	
  	
   	
   	
   	
   	
   	
  	
  	
  	
  	
   	
  
	
   	
  	
  	
  	
   	
  
(5)	
   	
   	
   	
   	
   à	
   	
   GW	
  -­‐	
  Nominallohn	
  
	
  
	
   	
  
	
  
	
  
	
  
	
  
	
  

	
  


